Dividing Money (D)

i

10.

Calculate each quotient.

33) $495.00 2. 90) $1440.00 3. 65) $1495.00
74 ) $4898.80 5. 87) $6246.60 6. 57) $3135.00
56 ) $3740.80 8. 77) $4235.00 9. 17 $1020.00

If 69 identical teddy bears cost $6610.20, how much did each teddy bear

cost?
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Dividing Money (D) Answers

10.

Calculate each quotient.

$ 15.00 $ 16.00
33 ) $495.00 2. 90) $1440.00
—$330.00 —$900.00
$165.00 $540.00
—$165.00 —$540.00
$0.00 $0.00
$ 66.20 $ 71.80
74') $4898.80 5. 87) $6246.60
—$4440.00 —$6090.00
$458.80 $156.60
—$444.00 —$87.00
$14.80 $69.60
—$14.80 —$69.60
$0.00 $0.00
$ 66.80 $ 55.00
56 ) $3740.80 8. 77) $4235.00
—$3360.00 —$3850.00
$380.80 $385.00
—$336.00 —$385.00
$44.80 $0.00
—$44.80
$0.00

6.

$ 23.00

65 ) $1495.00
—81300.00
$195.00
—$195.00

$0.00

$ 55.00

57 ) $3135.00
—$2850.00
$285.00
—$285.00

$0.00

$ 60.00
17) $1020.00
—$1020.00

$0.00

If 69 identical teddy bears cost $6610.20, how much did each teddy bear

cost? $95.80
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